



ARIZONA DEPARTMENT OF TRANSPORTATION
PROJECT DELIVERY AND OPERATIONS DIVISION
CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2025105

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
051 MA 000 F085801C	051-A-NFA	105492	MARICOPA	CENTRAL	9.6		Zarghami Ata

Highway Termini	Location	Work Description
-----------------	----------	------------------

• PIESTEWA FREEWAY (SR 51)

• I 10 To Shea Blvd

• Pavement Preservation

BID RESULTS FOR 2025105

Bid Opening Date : 11/21/2025, Prequalification Required, Engineer Specialist : Zarghami Ata

Completion Date:

180 Calendar Days

The proposed project is located in Maricopa County, within the City of Phoenix, along State Route 51, from Interstate 10 (milepost 148.23) to Shea Boulevard (milepost 9.80). The work includes milling asphalt rubber-asphalt concrete friction course, repairing Portland cement concrete pavement, diamond grinding the surface of existing concrete pavement and bridge decks, repairing bridge decks and bridge joints, installing pavement markings, and performing other related work.

Bid Rank	Compared To Department Estimate	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$23,728,852.95	DEPARTMENT ESTIMATE	\$23,728,852.95
1	-24.8%		\$17,845,579.59	EMERY SAPP & SONS, INC. 2301 I 70 DRIVE NW COLUMBIA, MO 65202-	\$17,845,579.59
2	+37.8%		\$32,703,555.78	ACME CONCRETE PAVING, INC. 4124 E BROADWAY SPOKANE, WA 99202-	\$32,703,555.78

Winning Bidder is 24.8% Under Department Estimate (Difference = (\$5,883,273.36))

*** Bid Tabs for Proposal Pamphlet 2025105 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020009	CU.YD.	REMOVAL OF STRUCTURAL CONCRETE				
Bid Rank	Department Estimate		20.000	\$1,000.000	\$20,000.00	
1	EMERY SAPP & SONS, INC.			\$52.000	\$1,040.00	-94.8%
2	ACME CONCRETE PAVING, INC.			\$450.000	\$9,000.00	-55.0%
2020021	L.FT.	REMOVAL OF CONCRETE CURB AND GUTTER				
Bid Rank	Department Estimate		421.000	\$35.000	\$14,735.00	
1	EMERY SAPP & SONS, INC.			\$10.000	\$4,210.00	-71.4%
2	ACME CONCRETE PAVING, INC.			\$20.000	\$8,420.00	-42.9%
2020025	SQ.FT.	REMOVAL OF CONCRETE SIDEWALKS, DRIVEWAYS AND SLABS				
Bid Rank	Department Estimate		2,365.000	\$20.000	\$47,300.00	
1	EMERY SAPP & SONS, INC.			\$2.450	\$5,794.25	-87.8%
2	ACME CONCRETE PAVING, INC.			\$5.000	\$11,825.00	-75.0%
2020027	L.FT.	REMOVAL OF CONCRETE BARRIER				
Bid Rank	Department Estimate		117.000	\$75.000	\$8,775.00	
1	EMERY SAPP & SONS, INC.			\$62.000	\$7,254.00	-17.3%
2	ACME CONCRETE PAVING, INC.			\$40.000	\$4,680.00	-46.7%
2020029	SQ.YD.	REMOVAL OF ASPHALTIC CONCRETE PAVEMENT				
Bid Rank	Department Estimate		1,632.000	\$25.000	\$40,800.00	
1	EMERY SAPP & SONS, INC.			\$17.000	\$27,744.00	-32.0%
2	ACME CONCRETE PAVING, INC.			\$20.000	\$32,640.00	-20.0%
2020031	SQ.YD.	REMOVAL OF PORTLAND CEMENT CONCRETE PAVEMENT				
Bid Rank	Department Estimate		1,632.000	\$40.000	\$65,280.00	
1	EMERY SAPP & SONS, INC.			\$31.000	\$50,592.00	-22.5%
2	ACME CONCRETE PAVING, INC.			\$50.000	\$81,600.00	+25.0%
2020052	L.FT.	REMOVE (STEEL RETAINER BAR)				
Bid Rank	Department Estimate		1,958.000	\$200.000	\$391,600.00	
1	EMERY SAPP & SONS, INC.			\$111.000	\$217,338.00	-44.5%
2	ACME CONCRETE PAVING, INC.			\$35.000	\$68,530.00	-82.5%
2020053	EACH	REMOVE (CATCH BASIN)				
Bid Rank	Department Estimate		1.000	\$3,000.000	\$3,000.00	
1	EMERY SAPP & SONS, INC.			\$1,600.000	\$1,600.00	-46.7%
2	ACME CONCRETE PAVING, INC.			\$1,000.000	\$1,000.00	-66.7%
2020078	SQ.YD.	REMOVE BITUMINOUS PAVEMENT FROM PCC (MILLING)				
Bid Rank	Department Estimate		929,600.000	\$4.000	\$3,718,400.00	
1	EMERY SAPP & SONS, INC.			\$2.930	\$2,723,728.00	-26.8%
2	ACME CONCRETE PAVING, INC.			\$5.000	\$4,648,000.00	+25.0%

*** Bid Tabs for Proposal Pamphlet 2025105 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020185	EACH	REMOVE (THRIE BEAM)				
Bid Rank	Department Estimate		1.000	\$600.000	\$600.00	
1	EMERY SAPP & SONS, INC.			\$572.000	\$572.00	-4.7%
2	ACME CONCRETE PAVING, INC.			\$600.000	\$600.00	+0.0%
2020186	EACH	REMOVE (GUARDRAIL END TREATMENT)				
Bid Rank	Department Estimate		1.000	\$800.000	\$800.00	
1	EMERY SAPP & SONS, INC.			\$2,475.000	\$2,475.00	+209.4%
2	ACME CONCRETE PAVING, INC.			\$1,000.000	\$1,000.00	+25.0%
2020187	EACH	REMOVE (ADIEM 350 CRASH CUSHION)				
Bid Rank	Department Estimate		7.000	\$7,000.000	\$49,000.00	
1	EMERY SAPP & SONS, INC.			\$2,599.000	\$18,193.00	-62.9%
2	ACME CONCRETE PAVING, INC.			\$2,500.000	\$17,500.00	-64.3%
2030301	CU.YD.	ROADWAY EXCAVATION				
Bid Rank	Department Estimate		130.000	\$130.000	\$16,900.00	
1	EMERY SAPP & SONS, INC.			\$76.000	\$9,880.00	-41.5%
2	ACME CONCRETE PAVING, INC.			\$150.000	\$19,500.00	+15.4%
2030303	CU.YD.	ROADWAY EXCAVATION (OVEREXCAVATION)				
Bid Rank	Department Estimate		466.000	\$150.000	\$69,900.00	
1	EMERY SAPP & SONS, INC.			\$93.000	\$43,338.00	-38.0%
2	ACME CONCRETE PAVING, INC.			\$150.000	\$69,900.00	+0.0%
2030904	CU.YD.	BORROW (IN PLACE)				
Bid Rank	Department Estimate		596.000	\$75.000	\$44,700.00	
1	EMERY SAPP & SONS, INC.			\$122.000	\$72,712.00	+62.7%
2	ACME CONCRETE PAVING, INC.			\$55.000	\$32,780.00	-26.7%
4010013	SQ.YD.	PORLTAND CEMENT CONCRETE PAVEMENT (13")				
Bid Rank	Department Estimate		1,632.000	\$150.000	\$244,800.00	
1	EMERY SAPP & SONS, INC.			\$229.000	\$373,728.00	+52.7%
2	ACME CONCRETE PAVING, INC.			\$175.000	\$285,600.00	+16.7%
4010310	EACH	LOAD TRANSFER DOWEL ASSEMBLY (10-FT)				
Bid Rank	Department Estimate		28.000	\$300.000	\$8,400.00	
1	EMERY SAPP & SONS, INC.			\$550.000	\$15,400.00	+83.3%
2	ACME CONCRETE PAVING, INC.			\$416.000	\$11,648.00	+38.7%
4010312	EACH	LOAD TRANSFER DOWEL ASSEMBLY (12-FT)				
Bid Rank	Department Estimate		56.000	\$350.000	\$19,600.00	
1	EMERY SAPP & SONS, INC.			\$571.000	\$31,976.00	+63.1%
2	ACME CONCRETE PAVING, INC.			\$500.000	\$28,000.00	+42.9%

*** Bid Tabs for Proposal Pamphlet 2025105 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4020049	SQ.YD.	PORLTAND CEMENT CONCRETE PAVEMENT (DIAMOND GRINDING)				
Bid Rank	Department Estimate		694,400.000	\$6.500	\$4,513,600.00	
1	EMERY SAPP & SONS, INC.			\$5.100	\$3,541,440.00	-21.5%
2	ACME CONCRETE PAVING, INC.			\$6.000	\$4,166,400.00	-7.7%
4090006	TON	ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL) (SPECIAL MIX)				
Bid Rank	Department Estimate		360.000	\$300.000	\$108,000.00	
1	EMERY SAPP & SONS, INC.			\$371.000	\$133,560.00	+23.7%
2	ACME CONCRETE PAVING, INC.			\$175.000	\$63,000.00	-41.7%
5011008	L.FT.	PIPE, REINFORCED CONCRETE, CLASS III, 15"				
Bid Rank	Department Estimate		3.000	\$1,000.000	\$3,000.00	
1	EMERY SAPP & SONS, INC.			\$1,361.000	\$4,083.00	+36.1%
2	ACME CONCRETE PAVING, INC.			\$100.000	\$300.00	-90.0%
5050089	EACH	MANHOLE (RECONSTRUCT)				
Bid Rank	Department Estimate		1.000	\$6,000.000	\$6,000.00	
1	EMERY SAPP & SONS, INC.			\$26,000.000	\$26,000.00	+333.3%
2	ACME CONCRETE PAVING, INC.			\$3,000.000	\$3,000.00	-50.0%
5050102	EACH	FRAME AND COVER FOR MANHOLE (REPLACE)				
Bid Rank	Department Estimate		1.000	\$5,000.000	\$5,000.00	
1	EMERY SAPP & SONS, INC.			\$4,159.000	\$4,159.00	-16.8%
2	ACME CONCRETE PAVING, INC.			\$1,400.000	\$1,400.00	-72.0%
6010006	CU.YD.	STRUCTURAL CONCRETE (CLASS S) (F'C = 5,000)				
Bid Rank	Department Estimate		20.000	\$2,500.000	\$50,000.00	
1	EMERY SAPP & SONS, INC.			\$1,856.000	\$37,120.00	-25.8%
2	ACME CONCRETE PAVING, INC.			\$2,700.000	\$54,000.00	+8.0%
6011190	L.FT.	REPLACE BRIDGE DECK JOINT SEAL (3X3 COMPRESSION SEAL)				
Bid Rank	Department Estimate		48.000	\$250.000	\$12,000.00	
1	EMERY SAPP & SONS, INC.			\$372.000	\$17,856.00	+48.8%
2	ACME CONCRETE PAVING, INC.			\$755.000	\$36,240.00	+202.0%
6011191	L.FT.	REPLACE BRIDGE DECK JOINT SEAL (STRIP SEAL)				
Bid Rank	Department Estimate		120.000	\$250.000	\$30,000.00	
1	EMERY SAPP & SONS, INC.			\$248.000	\$29,760.00	-0.8%
2	ACME CONCRETE PAVING, INC.			\$115.000	\$13,800.00	-54.0%
6011343	L.FT.	DECK JOINT ASSEMBLY (FLANGELESS STRIP SEAL)				
Bid Rank	Department Estimate		252.000	\$600.000	\$151,200.00	
1	EMERY SAPP & SONS, INC.			\$1,065.000	\$268,380.00	+77.5%
2	ACME CONCRETE PAVING, INC.			\$600.000	\$151,200.00	+0.0%

*** Bid Tabs for Proposal Pamphlet 2025105 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6050002	LB.	REINFORCING STEEL				
Bid Rank	Department Estimate		1,320.000	\$8.000	\$10,560.00	
1	EMERY SAPP & SONS, INC.			\$9.350	\$12,342.00	+16.9%
2	ACME CONCRETE PAVING, INC.			\$2.500	\$3,300.00	-68.8%
7010005	L.SUM	MAINTENANCE AND PROTECTION OF TRAFFIC				
Bid Rank	Department Estimate		1.000	\$500,000.000	\$500,000.00	
1	EMERY SAPP & SONS, INC.			\$1,082,000.000	\$1,082,000.00	+116.4%
2	ACME CONCRETE PAVING, INC.			\$5,000,000.000	\$5,000,000.00	+900.0%
7010025	EACH	TEMPORARY IMPACT ATTENUATION DEVICE (IN-LINE ENERGY ABSORBING TERM.)				
Bid Rank	Department Estimate		1.000	\$3,000.000	\$3,000.00	
1	EMERY SAPP & SONS, INC.			\$4,331.000	\$4,331.00	+44.4%
2	ACME CONCRETE PAVING, INC.			\$2,000.000	\$2,000.00	-33.3%
7010026	EACH-DAY	TEMPORARY IMPACT ATTENUNTION DEVICE (IN-LINE ENERGY ABSORBING TERM.) (IN USE)				
Bid Rank	Department Estimate		17.000	\$40.000	\$680.00	
1	EMERY SAPP & SONS, INC.			\$62.000	\$1,054.00	+55.0%
2	ACME CONCRETE PAVING, INC.			\$50.000	\$850.00	+25.0%
7015010	L.FT.	TEMPORARY CONCRETE BARRIER (INSTALLATION AND REMOVAL)				
Bid Rank	Department Estimate		540.000	\$20.000	\$10,800.00	
1	EMERY SAPP & SONS, INC.			\$49.500	\$26,730.00	+147.5%
2	ACME CONCRETE PAVING, INC.			\$30.000	\$16,200.00	+50.0%
7016020	L.FT.-DAY	TEMPORARY CONCRETE BARRIER (IN USE)				
Bid Rank	Department Estimate		9,180.000	\$0.300	\$2,754.00	
1	EMERY SAPP & SONS, INC.			\$0.310	\$2,845.80	+3.3%
2	ACME CONCRETE PAVING, INC.			\$0.080	\$734.40	-73.3%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank	Department Estimate		149.000	\$600.000	\$89,400.00	
1	EMERY SAPP & SONS, INC.			\$278.000	\$41,422.00	-53.7%
2	ACME CONCRETE PAVING, INC.			\$220.000	\$32,780.00	-63.3%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank	Department Estimate		904.000	\$60.000	\$54,240.00	
1	EMERY SAPP & SONS, INC.			\$62.000	\$56,048.00	+3.3%
2	ACME CONCRETE PAVING, INC.			\$50.000	\$45,200.00	-16.7%
7016081	HOUR	FLAGGING SERVICES (DPS)				
Bid Rank	Department Estimate		6,885.000	\$110.000	\$757,350.00	
1	EMERY SAPP & SONS, INC.			\$110.000	\$757,350.00	+0.0%
2	ACME CONCRETE PAVING, INC.			\$120.000	\$826,200.00	+9.1%

*** Bid Tabs for Proposal Pamphlet 2025105 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016082	HOUR	FLAGGING SERVICES (LOCAL ENFORCEMENT OFFICER)(WITH AGENCY VEHICLE)				
Bid Rank	Department Estimate		2,320.000	\$110.000	\$255,200.00	
1	EMERY SAPP & SONS, INC.			\$134.000	\$310,880.00	+21.8%
2	ACME CONCRETE PAVING, INC.			\$110.000	\$255,200.00	+0.0%
7020008	EACH	IMPACT ATTENUATION DEVICE (SMART CUSHION)				
Bid Rank	Department Estimate		8.000	\$40,000.000	\$320,000.00	
1	EMERY SAPP & SONS, INC.			\$38,000.000	\$304,000.00	-5.0%
2	ACME CONCRETE PAVING, INC.			\$40,000.000	\$320,000.00	+0.0%
7040005	L.FT.	PAVEMENT MARKING (WHITE EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		523,049.000	\$0.700	\$366,134.30	
1	EMERY SAPP & SONS, INC.			\$0.520	\$271,985.48	-25.7%
2	ACME CONCRETE PAVING, INC.			\$0.510	\$266,754.99	-27.1%
7040006	L.FT.	PAVEMENT MARKING (YELLOW EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		174,284.000	\$0.700	\$121,998.80	
1	EMERY SAPP & SONS, INC.			\$0.520	\$90,627.68	-25.7%
2	ACME CONCRETE PAVING, INC.			\$0.510	\$88,884.84	-27.1%
7040072	L.FT.	PAVEMENT MARKING (TRANSVERSE) (THERMOPLASTIC) (ALKYD) (0.090")				
Bid Rank	Department Estimate		1,125.000	\$1.000	\$1,125.00	
1	EMERY SAPP & SONS, INC.			\$1.200	\$1,350.00	+20.0%
2	ACME CONCRETE PAVING, INC.			\$1.000	\$1,125.00	+0.0%
7042031	L.FT.	PRIMER-SEALER FOR PCCP THERMOPLASTIC STRIPING				
Bid Rank	Department Estimate		1,055,925.000	\$0.250	\$263,981.25	
1	EMERY SAPP & SONS, INC.			\$0.100	\$105,592.50	-60.0%
2	ACME CONCRETE PAVING, INC.			\$0.150	\$158,388.75	-40.0%
7042051	L.FT.	REMOVAL OF CURING COMPOUND FOR STRIPING				
Bid Rank	Department Estimate		1,080.000	\$1.000	\$1,080.00	
1	EMERY SAPP & SONS, INC.			\$0.300	\$324.00	-70.0%
2	ACME CONCRETE PAVING, INC.			\$0.510	\$550.80	-49.0%
7050019	EACH	PAVEMENT MARKING, PREFORMED, LEGEND, TYPE I				
Bid Rank	Department Estimate		4.000	\$250.000	\$1,000.00	
1	EMERY SAPP & SONS, INC.			\$2,166.000	\$8,664.00	+766.4%
2	ACME CONCRETE PAVING, INC.			\$1,645.000	\$6,580.00	+558.0%
7050022	L.FT.	PAVEMENT MARKING, PREFORMED, WHITE STRIPE, TYPE I				
Bid Rank	Department Estimate		154,722.000	\$3.500	\$541,527.00	
1	EMERY SAPP & SONS, INC.			\$3.400	\$526,054.80	-2.9%
2	ACME CONCRETE PAVING, INC.			\$3.000	\$464,166.00	-14.3%

*** Bid Tabs for Proposal Pamphlet 2025105 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7050023	EACH	PAVEMENT MARKING, PREFORMED, SINGLE ARROW, TYPE I				
Bid Rank	Department Estimate		12.000	\$300.000	\$3,600.00	
1	EMERY SAPP & SONS, INC.			\$526.000	\$6,312.00	+75.3%
2	ACME CONCRETE PAVING, INC.			\$280.000	\$3,360.00	-6.7%
7050024	EACH	PAVEMENT MARKING, PREFORMED, DOUBLE ARROW, TYPE I				
Bid Rank	Department Estimate		1.000	\$400.000	\$400.00	
1	EMERY SAPP & SONS, INC.			\$836.000	\$836.00	+109.0%
2	ACME CONCRETE PAVING, INC.			\$800.000	\$800.00	+100.0%
7050025	EACH	PAVEMENT MARKING, PREFORMED, LETTER, TYPE I				
Bid Rank	Department Estimate		4.000	\$300.000	\$1,200.00	
1	EMERY SAPP & SONS, INC.			\$928.000	\$3,712.00	+209.3%
2	ACME CONCRETE PAVING, INC.			\$450.000	\$1,800.00	+50.0%
7050026	EACH	PAVEMENT MARKING, PREFORMED, LEGEND (ONLY), TYPE I				
Bid Rank	Department Estimate		14.000	\$300.000	\$4,200.00	
1	EMERY SAPP & SONS, INC.			\$836.000	\$11,704.00	+178.7%
2	ACME CONCRETE PAVING, INC.			\$1,645.000	\$23,030.00	+448.3%
7050028	EACH	PAVEMENT MARKING, PREFORMED, SYMBOL, TYPE I				
Bid Rank	Department Estimate		113.000	\$400.000	\$45,200.00	
1	EMERY SAPP & SONS, INC.			\$186.000	\$21,018.00	-53.5%
2	ACME CONCRETE PAVING, INC.			\$365.000	\$41,245.00	-8.8%
7050029	EACH	PAVEMENT MARKING, PREFORMED, FREEWAY ARROW, TYPE I				
Bid Rank	Department Estimate		26.000	\$300.000	\$7,800.00	
1	EMERY SAPP & SONS, INC.			\$612.000	\$15,912.00	+104.0%
2	ACME CONCRETE PAVING, INC.			\$500.000	\$13,000.00	+66.7%
7050050	L.FT.	PAVEMENT MARKING, PREFORMED, CONTRAST, OREO, TYPE I				
Bid Rank	Department Estimate		65,046.000	\$5.500	\$357,753.00	
1	EMERY SAPP & SONS, INC.			\$3.400	\$221,156.40	-38.2%
2	ACME CONCRETE PAVING, INC.			\$2.900	\$188,633.40	-47.3%
7050051	L.FT.	PAVEMENT MARKING, PREFORMED, CONTRAST, LEAD-LAG, TYPE I				
Bid Rank	Department Estimate		183,440.000	\$3.500	\$642,040.00	
1	EMERY SAPP & SONS, INC.			\$3.030	\$555,823.20	-13.4%
2	ACME CONCRETE PAVING, INC.			\$2.900	\$531,976.00	-17.1%
7050070	L.FT.	PRIMER-SEALER FOR PCCP (STRIPING)				
Bid Rank	Department Estimate		199,834.000	\$0.250	\$49,958.50	
1	EMERY SAPP & SONS, INC.			\$0.100	\$19,983.40	-60.0%
2	ACME CONCRETE PAVING, INC.			\$0.300	\$59,950.20	+20.0%

*** Bid Tabs for Proposal Pamphlet 2025105 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7050071	EACH	PRIMER-SEALER FOR PCCP (SYMBOL/LEGEND)				
Bid Rank	Department Estimate		174.000	\$50.000	\$8,700.00	
1	EMERY SAPP & SONS, INC.			\$62.000	\$10,788.00	+24.0%
2	ACME CONCRETE PAVING, INC.			\$50.000	\$8,700.00	+0.0%
7050074	L.FT.	REMOVAL OF CURING COMPOUND (PCCP) (STRIPPING)				
Bid Rank	Department Estimate		432.000	\$1.000	\$432.00	
1	EMERY SAPP & SONS, INC.			\$0.310	\$133.92	-69.0%
2	ACME CONCRETE PAVING, INC.			\$0.500	\$216.00	-50.0%
7060013	EACH	PAVEMENT MARKER, RAISED, TYPE C				
Bid Rank	Department Estimate		15,240.000	\$3.000	\$45,720.00	
1	EMERY SAPP & SONS, INC.			\$3.400	\$51,816.00	+13.3%
2	ACME CONCRETE PAVING, INC.			\$2.450	\$37,338.00	-18.3%
7060017	EACH	PAVEMENT MARKER, RAISED, TYPE E				
Bid Rank	Department Estimate		4,995.000	\$3.000	\$14,985.00	
1	EMERY SAPP & SONS, INC.			\$3.400	\$16,983.00	+13.3%
2	ACME CONCRETE PAVING, INC.			\$4.000	\$19,980.00	+33.3%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		1,162,378.000	\$0.150	\$174,356.70	
1	EMERY SAPP & SONS, INC.			\$0.140	\$162,732.92	-6.7%
2	ACME CONCRETE PAVING, INC.			\$0.100	\$116,237.80	-33.3%
7080202	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)				
Bid Rank	Department Estimate		271,716.000	\$0.150	\$40,757.40	
1	EMERY SAPP & SONS, INC.			\$0.140	\$38,040.24	-6.7%
2	ACME CONCRETE PAVING, INC.			\$0.100	\$27,171.60	-33.3%
7080205	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED SYMBOL) (PREFERENTIAL LANE DIAMOND)				
Bid Rank	Department Estimate		113.000	\$200.000	\$22,600.00	
1	EMERY SAPP & SONS, INC.			\$49.500	\$5,593.50	-75.3%
2	ACME CONCRETE PAVING, INC.			\$70.000	\$7,910.00	-65.0%
7080206	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED SYMBOL) (ARROW)				
Bid Rank	Department Estimate		39.000	\$80.000	\$3,120.00	
1	EMERY SAPP & SONS, INC.			\$49.500	\$1,930.50	-38.1%
2	ACME CONCRETE PAVING, INC.			\$50.000	\$1,950.00	-37.5%
7080207	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED LEGEND) (E/W/10/202)				
Bid Rank	Department Estimate		8.000	\$80.000	\$640.00	
1	EMERY SAPP & SONS, INC.			\$155.000	\$1,240.00	+93.8%
2	ACME CONCRETE PAVING, INC.			\$100.000	\$800.00	+25.0%

*** Bid Tabs for Proposal Pamphlet 2025105 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7080208	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED LEGEND) (ONLY)				
Bid Rank	Department Estimate		14.000	\$80.000	\$1,120.00	
1	EMERY SAPP & SONS, INC.			\$62.000	\$868.00	-22.5%
2	ACME CONCRETE PAVING, INC.			\$55.000	\$770.00	-31.3%
7350030	EACH	LOOP DETECTOR FOR TRAFFIC SURVEILLANCE (6'X6')				
Bid Rank	Department Estimate		169.000	\$2,000.000	\$338,000.00	
1	EMERY SAPP & SONS, INC.			\$1,856.000	\$313,664.00	-7.2%
2	ACME CONCRETE PAVING, INC.			\$1,900.000	\$321,100.00	-5.0%
8101017	EACH	EROSION CONTROL (GRAVEL BAGS)				
Bid Rank	Department Estimate		27.000	\$50.000	\$1,350.00	
1	EMERY SAPP & SONS, INC.			\$248.000	\$6,696.00	+396.0%
2	ACME CONCRETE PAVING, INC.			\$10.000	\$270.00	-80.0%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department Estimate		1.000	\$2,400,000.000	\$2,400,000.00	
1	EMERY SAPP & SONS, INC.			\$1,251,000.000	\$1,251,000.00	-47.9%
2	ACME CONCRETE PAVING, INC.			\$10,000,000.000	\$10,000,000.00	+316.7%
9080084	L.FT.	CONCRETE CURB AND GUTTER (C-05.10) (TYPE C)				
Bid Rank	Department Estimate		42.000	\$200.000	\$8,400.00	
1	EMERY SAPP & SONS, INC.			\$124.000	\$5,208.00	-38.0%
2	ACME CONCRETE PAVING, INC.			\$80.000	\$3,360.00	-60.0%
9080091	L.FT.	CONCRETE CURB AND GUTTER (TRANSITION) (DETAIL I)				
Bid Rank	Department Estimate		30.000	\$150.000	\$4,500.00	
1	EMERY SAPP & SONS, INC.			\$168.000	\$5,040.00	+12.0%
2	ACME CONCRETE PAVING, INC.			\$170.000	\$5,100.00	+13.3%
9080094	EACH	CONCRETE CURB AND GUTTER (VARIABLE WIDTH GUTTER) (DETAIL H)				
Bid Rank	Department Estimate		6.000	\$6,000.000	\$36,000.00	
1	EMERY SAPP & SONS, INC.			\$4,687.000	\$28,122.00	-21.9%
2	ACME CONCRETE PAVING, INC.			\$1,300.000	\$7,800.00	-78.3%
9100001	L.FT.	CONCRETE BARRIER (C-10.52, 32") (WITH GUTTER=2.5')				
Bid Rank	Department Estimate		200.000	\$200.000	\$40,000.00	
1	EMERY SAPP & SONS, INC.			\$285.000	\$57,000.00	+42.5%
2	ACME CONCRETE PAVING, INC.			\$600.000	\$120,000.00	+200.0%
9100008	L.FT.	CONCRETE BARRIER (C-10.52, 32") (WITH GUTTER=4.5')				
Bid Rank	Department Estimate		40.000	\$225.000	\$9,000.00	
1	EMERY SAPP & SONS, INC.			\$379.000	\$15,160.00	+68.4%
2	ACME CONCRETE PAVING, INC.			\$175.000	\$7,000.00	-22.2%

*** Bid Tabs for Proposal Pamphlet 2025105 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9100009	L.FT.	CONCRETE BARRIER (C-10.53, 32") (WITH GUTTER=4.5')				
Bid Rank	Department Estimate		50.000	\$250.000	\$12,500.00	
1	EMERY SAPP & SONS, INC.			\$315.000	\$15,750.00	+26.0%
2	ACME CONCRETE PAVING, INC.			\$450.000	\$22,500.00	+80.0%
9100112	EACH	CONCRETE HALF BARRIER TRANSITION (DETAIL L)				
Bid Rank	Department Estimate		6.000	\$5,000.000	\$30,000.00	
1	EMERY SAPP & SONS, INC.			\$13,000.000	\$78,000.00	+160.0%
2	ACME CONCRETE PAVING, INC.			\$10,000.000	\$60,000.00	+100.0%
9240010	L.SUM	FORCE ACCOUNT WORK (BRIDGE DECK REPAIR)				
Bid Rank	Department Estimate		1.000	\$500,000.000	\$500,000.00	
1	EMERY SAPP & SONS, INC.			\$500,000.000	\$500,000.00	+0.0%
2	ACME CONCRETE PAVING, INC.			\$500,000.000	\$500,000.00	+0.0%
9240011	L.SUM	FORCE ACCOUNT WORK (BIOLOGIST)				
Bid Rank	Department Estimate		1.000	\$8,000.000	\$8,000.00	
1	EMERY SAPP & SONS, INC.			\$8,000.000	\$8,000.00	+0.0%
2	ACME CONCRETE PAVING, INC.			\$8,000.000	\$8,000.00	+0.0%
9240012	L.SUM	FORCE ACCOUNT WORK (REMOVAL OF CONTAMINATED WASTE MATERIAL)				
Bid Rank	Department Estimate		1.000	\$15,000.000	\$15,000.00	
1	EMERY SAPP & SONS, INC.			\$15,000.000	\$15,000.00	+0.0%
2	ACME CONCRETE PAVING, INC.			\$15,000.000	\$15,000.00	+0.0%
9240014	L.SUM	FORCE ACCOUNT WORK (PCCP SPALL REPAIR)				
Bid Rank	Department Estimate		1.000	\$500,000.000	\$500,000.00	
1	EMERY SAPP & SONS, INC.			\$500,000.000	\$500,000.00	+0.0%
2	ACME CONCRETE PAVING, INC.			\$500,000.000	\$500,000.00	+0.0%
9240015	L.SUM	FORCE ACCOUNT WORK (PCCP SLAB REPAIR)				
Bid Rank	Department Estimate		1.000	\$90,000.000	\$90,000.00	
1	EMERY SAPP & SONS, INC.			\$90,000.000	\$90,000.00	+0.0%
2	ACME CONCRETE PAVING, INC.			\$90,000.000	\$90,000.00	+0.0%
9240016	L.SUM	FORCE ACCOUNT WORK (PCCP CRACK REPAIR)				
Bid Rank	Department Estimate		1.000	\$30,000.000	\$30,000.00	
1	EMERY SAPP & SONS, INC.			\$30,000.000	\$30,000.00	+0.0%
2	ACME CONCRETE PAVING, INC.			\$30,000.000	\$30,000.00	+0.0%
9240110	CU.FT.	MISCELLANEOUS WORK (SLURRY FILL CATCH BASIN) (DETAIL D02)				
Bid Rank	Department Estimate		506.000	\$150.000	\$75,900.00	
1	EMERY SAPP & SONS, INC.			\$41.500	\$20,999.00	-72.3%
2	ACME CONCRETE PAVING, INC.			\$900.000	\$455,400.00	+500.0%

*** Bid Tabs for Proposal Pamphlet 2025105 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240111	L.FT.	MISCELLANEOUS WORK (RESEAL PCCP JOINTS)				
Bid Rank	Department Estimate		779,400.000	\$6.000	\$4,676,400.00	
1	EMERY SAPP & SONS, INC.			\$2.460	\$1,917,324.00	-59.0%
2	ACME CONCRETE PAVING, INC.			\$2.200	\$1,714,680.00	-63.3%
9240191	SQ.YD.	MISCELLANEOUS WORK (BRIDGE DECK DIAMOND GRINDING)				
Bid Rank	Department Estimate		58,000.000	\$7.500	\$435,000.00	
1	EMERY SAPP & SONS, INC.			\$6.250	\$362,500.00	-16.7%
2	ACME CONCRETE PAVING, INC.			\$6.000	\$348,000.00	-20.0%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$150,000.000	\$150,000.00	
1	EMERY SAPP & SONS, INC.			\$206,000.000	\$206,000.00	+37.3%
2	ACME CONCRETE PAVING, INC.			\$100,000.000	\$100,000.00	-33.3%